July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	140	22.06	6.3463	140.0000	100.00	15	Fun, Heng
2	140	33.44	4.1866	92.3565	65.97	13	Cannon, Paul
3	140	42.99	3.2566	71.8400	51.31	14	Sorrell, Jake
4	115	40.77	2.8207	62.2247	44.45	10	Nelson, Mick
5	140	52.09	2.6877	59.2897	42.35	2	Brownday, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	140	26.49	5.2850	140.0000	100.00	4	Hopley, Darren
2	140	52.74	2.6545	70.3186	50.23	6	Spooner, Wayne
3	140	58.71	2.3846	63.1681	45.12	11	Lydon, Mark
4	140	64.02	2.1868	57.9288	41.38	1	Rizzo, Franco
5	140	66.61	2.1018	55.6763	39.77	17	Randle, Gary

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	140	31.49	4.4459	140.0000	100.00	18	Brittain, Rob
2	140	41.48	3.3751	106.2826	75.92	12	Davies, Martin

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	140	47.91	2.9221	140.0000	100.00	16	Jiggens, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	5.42	7.3801	40.0000	100.00	15	Fun, Heng
2	40	9.64	4.1494	22.4896	56.22	13	Cannon, Paul
3	40	11.91	3.3585	18.2032	45.51	14	Sorrell, Jake
4	40	12.87	3.1080	16.8454	42.11	10	Nelson, Mick
5	40	15.60	2.5641	13.8974	34.74	2	Brownday, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	6.06	6.6007	40.0000	100.00	4	Hopley, Darren
2	40	10.78	3.7106	22.4861	56.22	6	Spooner, Wayne
3	40	16.73	2.3909	14.4889	36.22	1	Rizzo, Franco
4	40	16.78	2.3838	14.4458	36.11	11	Lydon, Mark
5	40	28.43	1.4070	8.5262	21.32	17	Randle, Gary

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	7.58	5.2770	40.0000	100.00	18	Brittain, Rob
2	40	11.99	3.3361	25.2877	63.22	12	Davies, Martin

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	COMPETITOR # Name
1	40	7.40	5.4054	40.0000	100.00	16 Jiggens, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	35	6.41	5.4602	35.0000	100.00	15	Fun, Heng
2	35	9.85	3.5533	22.7766	65.08	13	Cannon, Paul
3	35	13.91	2.5162	16.1287	46.08	2	Brownday, Mark
4	35	16.40	2.1341	13.6799	39.09	14	Sorrell, Jake
5	35	20.70	1.6908	10.8382	30.97	10	Nelson, Mick

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	35	4.38	7.9909	35.0000	100.00	4	Hopley, Darren
2	35	11.12	3.1475	13.7860	39.39	17	Randle, Gary
3	35	13.33	2.6257	11.5004	32.86	6	Spooner, Wayne
4	35	14.65	2.3891	10.4642	29.90	11	Lydon, Mark
5	35	26.38	1.3268	5.8112	16.60	1	Rizzo, Franco

July 2022

Printed July 9, 2022 at 10:45



1 35 7.61 4.5992 35.0000 100.00			POINTS	PERCENT	π	Name
2 35 15.33 2.2831 17.3744 49.64	1	 	35.0000	100.00		Davies, Martin Brittain, Rob

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	35	29.54	1.1848	35.0000	100.00	16 Jiggens, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	35	7.64	4.5812	50.0000	100.00	15	Fun, Heng
2	50	14.65	3.4130	37.2501	74.50	14	Sorrell, Jake
3	50	24.51	2.0400	22.2650	44.53	2	Brownday, Mark
4	50	27.55	1.8149	19.8081	39.62	10	Nelson, Mick
5	10	15.93	0.6277	6.8514	13.70	13	Cannon, Paul

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	50	11.28	4.4326	50.0000	100.00	17	Randle, Gary
2	50	12.33	4.0552	45.7421	91.48	6	Spooner, Wayne
3	50	12.77	3.9154	44.1660	88.33	4	Hopley, Darren
4	50	21.33	2.3441	26.4416	52.88	1	Rizzo, Franco
5	50	46.23	1.0815	12.1999	24.40	11	Lydon, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	50	12.67	3.9463	50.0000	100.00	18	Brittain, Rob
2	50	14.49	3.4507	43.7198	87.44	12	Davies, Martin

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name
1	50	15.51	3.2237	50.0000	100.00	16 Jiggens, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	120	19.10	6.2827	120.0000	100.00	15	Fun, Heng
2	120	26.38	4.5489	86.8840	72.40	13	Cannon, Paul
3	120	36.72	3.2680	62.4183	52.02	10	Nelson, Mick
4	120	39.39	3.0465	58.1874	48.49	14	Sorrell, Jake
5	120	46.06	2.6053	49.7612	41.47	2	Brownday, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	25.62	4.6838	120.0000	100.00	4	Hopley, Darren
2	120	48.59	2.4696	63.2723	52.73	6	Spooner, Wayne
3	120	48.71	2.4636	63.1164	52.60	11	Lydon, Mark
4	120	59.08	2.0311	52.0379	43.36	17	Randle, Gary
5	120	59.75	2.0084	51.4544	42.88	1	Rizzo, Franco

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	120	27.07	4.4330	120.0000	100.00		Brittain, Rob
2	120	37.89	3.1671	85.7324	71.44	12	Davies, Martin

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR		STAGE PERCENT		OMPETITOR Name
1	120	39.22	3.0597	120.0000	100.00	16	Jiggens, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	6.81	5.8737	40.0000	100.00	14	Sorrell, Jake
2	40	7.28	5.4945	37.4176	93.54	13	Cannon, Paul
3	40	9.15	4.3716	29.7705	74.43	10	Nelson, Mick
4	40	10.14	3.9448	26.8639	67.16	2	Brownday, Mark
5	40	12.31	3.2494	22.1284	55.32	15	Fun, Heng

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	40	17.56	2.2779	40.0000	100.00	11	Lydon, Mark
2	20	9.71	2.0597	36.1689	90.42	4	Hopley, Darren
3	40	20.38	1.9627	34.4652	86.16	6	Spooner, Wayne
4	40	20.80	1.9231	33.7692	84.42	1	Rizzo, Franco
5	40	25.76	1.5528	27.2671	68.17	17	Randle, Gary

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	40	7.28	5.4945	40.0000	100.00	18	Brittain, Rob
2	40	12.08	3.3113	24.1060	60.26	12	Davies, Martin

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	COMPETITOR # Name
1	40	10.93	3.6597	40.0000	100.00	16 Jiggens, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	30	5.27	5.6926	45.0000	100.00	15	Fun, Heng
2	45	9.58	4.6973	37.1320	82.52	14	Sorrell, Jake
3	30	7.19	4.1725	32.9833	73.30	13	Cannon, Paul
4	45	12.33	3.6496	28.8504	64.11	10	Nelson, Mick
5	45	16.95	2.6549	20.9867	46.64	2	Brownday, Mark

July 2022

Printed July 9, 2022 at 10:45



1	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	45	8.25	5.4545	45.0000	100.00	4	Hopley, Darren
2	45	11.88	3.7879	31.2500	69.44	6	Spooner, Wayne
3	45	13.21	3.4065	28.1037	62.45	11	Lydon, Mark
4	45	14.28	3.1513	25.9979	57.77	1	Rizzo, Franco
5	45	21.07	2.1357	17.6198	39.16	17	Randle, Gary

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	7.56	5.9524	45.0000	100.00	12	Davies, Martin
2	45	9.16	4.9127	37.1397	82.53	18	Brittain, Rob

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	COMPETITOR # Name
1	45	11.55	3.8961	45.0000	100.00	16 Jiggens, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C(#	OMPETITOR Name
1	110	21.25	5.1765	110.0000	100.00	15	Fun, Heng
2	110	24.14	4.5568	96.8310	88.03	13	Cannon, Paul
3	110	38.63	2.8475	60.5100	55.01	14	Sorrell, Jake
4	110	41.07	2.6784	56.9150	51.74	10	Nelson, Mick
5	110	43.18	2.5475	54.1339	49.21	2	Brownday, Mark

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	110	21.40	5.1402	110.0000	100.00	4	Hopley, Darren
2	110	34.75	3.1655	67.7410	61.58	11	Lydon, Mark
3	110	40.44	2.7201	58.2097	52.92	6	Spooner, Wayne
4	110	50.03	2.1987	47.0518	42.77	1	Rizzo, Franco
5	110	76.91	1.4302	30.6072	27.82	17	Randle, Gary

July 2022

Printed July 9, 2022 at 10:45



	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	110	22.59	4.8694	110.0000	100.00	18	Brittain, Rob
2	110	33.65	3.2689	73.8455	67.13	12	Davies, Martin

July 2022

Printed July 9, 2022 at 10:45



PTS		TIME	HIT FACTOR		STAGE PERCENT	COMPETITOR # Name	
1	110	27.60	3.9855	110.0000	100.00	16 Jiggens, Mark	